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10.

Answer ALL questions.

PART A — (10 X 2 = 20 ma#ks)
Deﬁne tokens, Patterns and lexgmes.
Mention the issues Iin a lexical afalyzer,
Eliminate left recursiomfrom the.following grammar A—Ac/Aad/bd/ .
Give examples for statié check.
What are the farious ways of representing intermediate languages?
Whathig baék patching?
Define basic blocks and flow graphs.
Give any four applications of DAG.
What is constant ;f"olding?

What are the properties of optimizing compilers?
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PART B — (5 x 16 = 80 marks)
Write in detail about the cousins of the complier. (8}

Explain in detail about the role of Lexical analyzer with the
possible error recovery actions. (8)

Or

What are the phases of the compiler? Explain the phases in detail.
Write down the output of each phase for the expression

a:=b+ ¢ *50. ' (10)
Elaborate specification of {okens. - | (6)
Construct a predict'}v_e parser_for the following grammr. (10)
S (L) |a |
L LS |8,
List all LR (0) items for the followifig gsamifar | (6)
S—>AS/b- |
A—-SA/a. |
| | Or

What aregtheldifferent®torage allocation strategies? Explain. (8)

Specify ‘agtype checker which can handle expressions, statements

and functions. (8)

What are the various methods of implementing three address

statements? Explain with example. (8)
Explain about back patching with an example. 3 (8)
Or

Write down the translation scheme to generate three address code
for the assignment statement. : (8)

How would you generate intermediate code for the flow of control
statements? ' ' (8)
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(1) Discuss briefly about simple code generation algorithm. (8)

(i}  For the flow graph shown below, write the three address statements
and construct the DAG. :

(1) ti=4*1i
(2)  tei=altd]
(3} ta=4%1]

(4) te:=blts]
(B) tsi=ta™tg
(6) ts:=prod +ts

(7)  prod :=tg
8 tri=i+1l
(9 1:=ty _
(10) 1ifi< 20 goto (1). , ! (8)
Or.
(i)  Explain the concept of register allodation 'and asgignment. (8)
(ii) Discuss labeling algorithm with an éxamiple. (8)
Write the principle sources of optimization. (16)
Ox
(1)  Explain the data-flowsanalysi®f structured programs. (8)

(i) Write globalf¢ommon \subexpression elimination algorithm with
example. _ (8)
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